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Abbreviations

R Ring Ch Chain

CR Centre ring vsp Very small picot

DNRW Do not reverse work RW Reverse work

Lj Lock or shuttle join B Move bead into place

+ Join Cl Close

T & C Tie and cut LCh 1st half flipped as usual, 2nd half wrapped as in SR

Ljp This makes a very small picot on the CORE thread.  Work first half of stitch wrapped - leaving a 
very small picot (I use a pin to make this vsp over and leave it in place until the join)

Button Hat
Measures:-  2 ½” wide by 1 ½” in height. 
Materials required:- 4 hole button measuring a little under ½” diameter, number 20 thread, 
size 11 beads, brooch finding.  

Add 46 beads to Sh1
Round 1
R1: 6 vsp 6 Cl
SR2: 2 + (1st hole in button) 2 / 2 vsp 1 Cl
SR3: 4 / 5 Cl
SR4: 4 + (same hole in button) 2 vsp 2 / 1 Cl RW
Ch: 3 vsp 3 RW
SR5: 2 + (vsp SR4) 3 vsp 2 / 1 Cl RW
Ch: 3 vsp 3 RW
SR6: 2 + (vsp SR5) 2 + (next hole in button) 2 vsp 2 / 1 Cl RW
Ch: 3 vsp 3 RW
SR7: 2 + (vsp SR6) 3 vsp 2 / 1 Cl RW
Ch: 3 vsp 3 RW
SR8: 2 + (vsp SR7) 2 + (next hole in button) 2 vsp 2 / 1 Cl DNRW
Ch: 3 vsp 3 RW
SR9: 2 + (vsp SR8) 3 vsp 2 / 1 Cl RW
Ch: 3 vsp 3 RW
SR10: 2 + (vsp SR9) 2 + (next hole in button) 4 / 1 Cl DNRW
SR11: 4 / 5 Cl
SR12: 2 + (same hole in button) 2 + (2 vsp R1) 2 / 1 Cl SS DNRW
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Round 2
Ch: 12 RW
R13: 6 + (space btwn SR10 & SR11) 6 Cl RW
SCMR14: 2 B 2 B 2 B 1 vsp 1 SS 5 beads @ back of hand 
before starting next R

R: 1 + (vsp last section) 1 B 2 B 2 B 2 B 2 B 1 
vsp 1 Cl SS

SCMR14: 1 + (vsp on R) 1 B 2 B 2 B 1 vsp 1 Cl SS  - See insert below (right) for 
the next part
Ch: 1 + (vsp last section SCMR14) 1 SS DNRW
R15: 1 – 1 – 1 – 1 – 1 – 1 vsp 1 Cl SS DNRW
Ch: 2 RW
R16: 5 + (Ch btwn SR9 & SR10) 5 Cl RW SS
R17: 1 + (vsp R15) 1 – 1 – 1 – 1 – 1 – 1 vsp 1 Cl SS DNRW
Ch: 2 SS DNRW
R18: 1 + (vsp R17) 1 – 1 – 1 – 1 – 1 – 1 Cl SS DNRW
Ch: 4 B 2 B 2 RW
R19: 4 + (Ch btwn SR8 & SR9) 4 Cl RW
Ch: B 2 B 2 B 2 B 2 B 2 RW
R20: 4 + (Ch btwn SR7 & SR8) 4 Cl RW
Ch: 2 B 2 B 2 B 2 B 2 RW
R21: 4 + (Ch btwn SR6 & SR7) 4 Cl RW
Ch: B 2 B 2 B 2 B 2 B 2 RW
R22: 4 + (Ch btwn SR5 & SR6) 4 Cl RW
Ch: B 2 B 2 B 2 B 2 B 2 RW
R23: 4 + (Ch btwn SR4 & SR5) 4 Cl RW
Ch: B 2 B 1 vsp 1 RW
R24: 6 + (space btwn SR3 & SR4) 6 Cl RW

SCMR25: 1 + (vsp last Ch) 1 B 2 B 2 B 1 vsp 1 SS 5 beads @ back of hand before starting 
next R

R: 1 + (vsp last section) 1 B 2 B 2 B 2 B 2 B 1 vsp 1 Cl SS
SCMR25: 1 + (vsp on R) 1 B 2 B 2 B 2 Cl SS

Ch: 12 T & C vsp SR2

Snazzy Hat
Measures 1 ½” - width of brim.  Materials required - number 20 thread, beads.
Sh1 – 27 beads.  Sh2 – 2 beads
Centre Ring:1 – 1 – 1 – 1 vsp 1 – 1 – 1 – 1 vsp 1 – 1 – 1 – 1 vsp 1 
– 1 – 1 – 1 Cl DNRW SS

Ch1: vsp 4 Lj (1st vsp CR) vsp 4 Lj (2nd vsp CR) vsp 4 Lj (3rd vsp 
CR) vsp 4 Lj (vsp base CR) RW SS
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Ch2: vsp 4 vsp 4 Lj (3rd vsp last Ch) vsp 6 Lj (2nd vsp last Ch) vsp 6 
Lj (1st vsp last Ch) vsp 6 RW

R1: 4 + (vsp base centre R) 4 Cl DNRW SS
SCMR2: 2 B 2 B 1 vsp 1 SS 5 beads @ back of hand before 
starting next R

R: 1 + (vsp) 1 B 2 B 2 B 2 B 2 B 1 vsp 1 Cl SS
SCMR2: 1 + (vsp) 1 B 2 B 2 Cl

Ch: 4 Lj (vsp last Ch) B 2 B 2 B 2 B 2 Lj (next vsp last Ch) BBB 2 
B 2 B 2 B 2 Lj (next vsp last Ch) B 4 RW
R3: 4 + (vsp last Ch) 4 Cl RW SS 2 beads @ back of hand before 
starting next R
SR4: 2 B 2 B 1 vsp 1 / 2 B 2 B 2 Cl 5 beads @ back of hand before 
starting next R
R5: 1 + (vsp SR4) 1 B 2 B 2 B 2 B 2 B 2 Cl T & C

Teeny Tiny Flowery Hat

Measures:- 1 ¼” wide by ⅝” in height. 
Materials required:- Thread, 3 beads.
Sh1 – 1 bead.  Sh2 – 2 beads
B at back of hand before starting first ring.
R1: 1 vsp 4 B 4 vsp 1 Cl
R2: 1 + (vsp R1) 8 vsp 8 vsp 1 Cl
R3: 1 + (vsp R2) 6 vsp 4 vsp 6 vsp 1 Cl
SR4: 1 + (vsp R3) 8 / 1 + (vsp R1) 8 Cl RW
Ch: 6 vsp 2 Ljp 2 + (vsp) 4 B 8 Lj (Ljp) RW
SR5: 6 + (SR3) / 6 Cl RW
Ch: 6 Lj (next p SR3) RW
SR6: 6 / 6 Cl RW
Ch: Ljp 8 B 4 vsp 2 Lj (Ljp) 2 + (vsp) 6 T & C vsp R2
Take 1 shuttle with roughly 18” for a chain.  Join in space btwn R1 & R2 then work
LCh: 7 SLT
R7: 1 – 1 – 1 – 1 – 1 – 1 Cl T & C
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